Question-2
1. Structure constructed for crossing obstructions like river, streams and valley is...

A) Bridge. B) Dock C) Harbour D) Airport
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2. Which of the following is a component of bridge?
A) Jetty B) Hanger C) Pier. D) Apron
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3. Abutment belongs to which component of bridge?

A) Sub structure. B) Super structure C) Adjoining structure D) none of the above
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4. When bridge alignment is at right angles to center line of river, bridge is called...

A) Straight alignment. B) Skew alignment C) Adjoining alignment D) none of the above
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5. Bridge below which water is flowing only in monsoon is...

A) Agueduct B) Viaduct. C) Grade separator D) Foot bridge

6. When bridge floor is located at top of super structure, bridge is called...
A) Through bridge B) Semi Through bridge C) Deck bridge. D) none of the above
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7. Laxman jula is an example of...

A) Arch bridge B) Slab bridge C) Suspension bridge. D) Truss bridge
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8. Approaches belongs to which component of bridge?



A) Sub structure B) Super structure C) Adjoining structure. D) none of the above
9. Bridge which allows water to pass above flooring in monsoon is...

A) Causeway. B) Viaduct C) Arch bridge D) Foot bridge

10. Span of culvert is kept...

A) up to 8m. B) 8 to 30m C) 30 to 120m D) above 120m

11. Portion which is below bridge bearing is called...

A) Sub structure. B) Super structure C) Adjoining structure D) none of the above
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12. Handrail belongs to which component of bridge?

A) Sub structure B) Super structure. C) Adjoining structure D) none of the above

13. When bridge floor is located at bottom of super structure, bridge is called...

A) Through bridge. B) Semi Through bridge C) Deck bridge D) none of the above
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14. Bridge which is constructed where two roads or a road and a railway line cross is...

A) Aqueduct B) Viaduct C) Grade separator. D) Foot bridge

¥ [B16y BLAlAAIML 2419, €9 65dl 01 22l AALL 22l VA 269 AL S AU 9 A €9,

5) visales2 oil) Ags2 2l) A [Acusys &) 52 (asy

15. Bridge which has lowest cost...
A) Timber bridge. B) Steel bridge C) RCC bridge D) Stone masonry bridge
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16. HFL is used for...

A) determination of bridge height B) determination of scour depth C) determination of pier
depth D) all of the above.
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17. Due to currents in flowing water upper layer of river gets eroded this is called...

A) Efflux B) Scour. C) Free board D) none of the above



18. Bridge which can be rotated in horizontal axis with central pier...

A) Swing bridge. B) Bascule bridge C) Transverser bridge D) none of the above
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19. Span of long span bridge is kept...

A) up to 8m B) 8 to 30m C) 30 to 120m D) above 120m.

20. Flooring belongs to which component of bridge?

A) Sub structure B) Super structure. C) Adjoining structure D) none of the above
21. Portion which is above bridge bearing is called...

A) Sub structure B) Super structure. C) Adjoining structure D) none of the above
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22. Bridge which is constructed to cross railway track on railway station is...
A) Aqueduct B) Viaduct C) Grade separator D) Foot bridge.

23. Bandra worli Sea link is an example of...

A) Arch bridge B) Slab bridge C) Suspension bridge. D) Truss bridge
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24. Distance between two piers of bridge is called...
A) Length of bridge B) Clear Span. C) Linear Waterway D) Free board

25. When bridge floor is located at any intermediate level of super structure, bridge is called...

A) Through bridge B) Semi Through bridge. C) Deck bridge D) none of the above
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26. Parapet wall belongs to which component of bridge?

A) Sub structure B) Super structure. C) Adjoining structure D) none of the above
27. The span which gives minimum cost is called...

A) Effective Span B) Clear Span C) Economic Span. D) none of the above

28. Due to construction of piers and abutment water level rises in upstream of river this
phenomenon is called...



A) Efflux. B) Scour C) Free board D) none of the above

29. For site selection of bridge...

A) Alignment should be perpendicular to river
B) River valley should be narrow
C) Efflux should be minimum

D) all of the above.
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30. Span of minor bridge is kept...

A) up to 8m B) 8 to 30m. C) 30 to 120m D) above 120m

31. Pier belongs to which component of bridge?

A) Sub structure. B) Super structure C) Adjoining structure D) none of the above
32. Bridge which is constructed to support transportation of water, gas and oil is...

A) Agueduct B) Viaduct C) Grade separator D) Pipe bridge.
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33. Distance between two abutments of bridge is called...

A) Length of bridge. B) Clear Span C) Linear Waterway D) Free board

34. River training works belongs to which component of bridge?

A) Sub structure B) Super structure C) Adjoining structure. D) none of the above
35. Data to be collected for bridge site selection...

A) Availability of Electricity

B) Availability of Skilled labour

C) Availability of Material

D) all of the above.
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36. If n is number of span than, number of piers in a bridge...
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A) n-1. B) n+1 C) n-2 D) n+2
37. Bridge which can be rotated in vertical axis...

A) Swing bridge B) Bascule bridge. C) Transverser bridge D) none of the above
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38. Arch and cables belongs to which component of bridge?

A) Sub structure B) Super structure. C) Adjoining structure D) none of the above
39. L= CVQ formula is given by...

A) Kennedy B) Darcy C) Lacey. D) none of the above

40. In arch bridge free board provided is...

A) 30cm. B) 60cm C) 75cm D) 90cm

41. Wing wall belongs to which component of bridge?

A) Sub structure. B) Super structure C) Adjoining structure D) none of the above
42. The span in which cost of super structure is equal to cost of substructure is called...
A) Effective Span B) Clear Span C) Economic Span. D) none of the above

43. Vertical distance kept from HFL to lowest portion of bridge is called...

A) Length of bridge B) Clear Span C) Linear Waterway D) Free board.

44. Bridge which can be rolled forward and back in horizontal axis via rollers...

A) Swing bridge B) Bascule bridge C) Transverser bridge. D) none of the above
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45. Span of major bridge is kept...
A) up to 8m B) 8 to 30m C) 30 to 120m. D) above 120m



46. Foundations belongs to which component of bridge?

A) Sub structure. B) Super structure C) Adjoining structure D) none of the above
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47. Bridge which is constructed by joining cables with bridge flooring is...
A) Arch bridge B) Slab bridge C) Suspension bridge. D) Truss bridge

-

(9457 5% Y& salll2al A18, 504, SxIdled oellAAME 2UA £9 A €9...

21) 20 (a5 ofl) 2a0t ey «l) dzlend sy, {) 22 sy

48. Bridge which is used for railways is...

A) Aqueduct B) Viaduct C) Grade separator D) Truss bridge.
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49. When bridge alignment is not at right angles to center line of river, bridge is called...

A) Straight alignment B) Skew alignment. C) Adjoining alignment D) none of the above
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50. Guard stones belongs to which component of bridge?

A) Sub structure B) Super structure C) Adjoining structure. D) none of the above

Question-4
1. Structure constructed for water transport is...

A) Road B) Railway track C) Harbour. D) Airport
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2. Pick up the correct statement from the following:

A) An artificial barrier which makes the enclosed area safe for anchorage of ships is known as
break water

B) The break water whose inside is used as a platform for loading and unloading is called a
mole



C) The length of the quay wall is governed by the length of the largest vessel likely to be
berthed

D) all of the above.
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3. A harbour without any port complex is called...

A) fishing harbour B) refuge harbour. C) military harbour D) commercial harbour

4. Port located in Gujarat...

A) Kandla port. B) Mumbai port C) Jawaharlal Nehru port D) Chennai port
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5. Water transport on rivers and lakes is called...

A) Inland waterways. B) Oceanic waterways C) Outland waterways D) none of the above
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6. Port which was featured in bollywood film “Bhootnath”...

A) Kandla port B) Mumbai port C) Marmagao port. D) Chennai port

7. Paradip port is located in which of the following state?

A) Gujarat B) Kerala C) Orissa. D) Maharastra

8. Sarhind canal in punjab is used for transport of...

A) Agricultural products B) Timber. C) Steel D) Gold

9. Cheapest mode of transport...

A) Air B) Road C) Railway D) Water.
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10. Marmagao port is located in which of the following state?



A) Gujarat B) Goa. C) West bengal D) Maharastra
11. The shape of docks and basins can be kept as,

A) Rectangular quay B) Diamond shape quay C) Inclined quay D) all of the above.
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12. Port located in Kerala...

A) Kandla port B) Mumbai port C) Cochin port. D) Chennai port
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13. Which one of the following is an advantage of water transport?

A) Oil spillage B) Cheapest transport. C) Smoke generation D) Slow transport
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14. Which one is used for storage in harbour?

A) Warehouse. B) Pier C) Breakwater D) Entrance channel
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15. Harbour component which permits berthing of ship on both sides...

A) Wharf B) Pier. C) Quay D) none of the above
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16. Mumbai port is located in which of the following state?

A) Gujarat B) Kerala C) Orissa D) Maharastra.
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17. Harbour component which permits berthing of ship on only one side...

A) Quay. B) Pier C) Jetty D) none of the above
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18. Area protected by shore and breakwater...

A) Sheltered basin. B) Pier C) Turning basin D) Entrance channel
19. Kolkata port is located in which of the following state?

A) Gujarat B) Kerala C) West bengal. D) Maharastra
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20. Water transport continents or islands is called...

A) Inland waterways B) Oceanic waterways. C) Outland waterways D) none of the above
21. Port located in Maharastra...

A) Kandla port B) Mumbai port. C) Marmagao port D) Chennai port
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22. A dock:

A) is provided with a dock gate

B) is provided with an arrangement to pump out water when required

C) is a marine structure for berthing of vessels for loading and unloading cargo and passengers
D) all of the above.
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23. Area provided for repair and maintenance of ships...

A) Sheltered basin B) Dry dock. C) Turning basin D) Wet dock
24. Solid platform perpendicular to shore line...

A) Wharf B) Pier. C) Quay D) none of the above

25. Cochin port is located in which of the following state?

A) Gujarat B) Kerala. C) Orissa D) Maharastra



26. Solid platform parallel to shore line...

A) Wharf. B) Pier C) Jetty D) none of the above

27. Harbour which is fully man made...

A) Natural Harbour B) Semi natural Harbour C) Arificial Harbour. D) none of the above
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28. Chennai port is located in which of the following state?

A) Gujarat B) Kerala C) Tamilnadu. D) Maharastra
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29. Port located in Andhrapradesh...

A) Kandla port B) Mumbai port C) Marmagao port D) Vishakhapatnam port.

30. A harbour at which cold storages are available is called...

A) fishing harbour. B) refuge harbour C) military harbour D) commercial harbour
31. Dock is a structure related to which of the following transport?

A) Road B) Railway C) Water. D) Air
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32. Port located in Tamilnadu...

A) Kandla port B) Mumbai port C) Marmagao port D) Chennai port.
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33. Which one is used for berthing of ships in harbour?

A) Warehouse B) Pier. C) Breakwater D) Entrance channel

34. Area provided for berthing of ships during outside fluctuations inside harbour...
A) Sheltered basin B) Dry dock C) Turning basin D) Wet dock.

35. Harbour component which permits berthing of ship on only one side...

A) Wharf. B) Pier C) Jetty D) none of the above

36. Kandla port is located in which of the following state?

A) Gujarat. B) Kerala C) Orissa D) Maharastra
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37. Solid platform parallel to shore line...

A) Quay. B) Pier C) Jetty D) none of the above

38. Solid platform perpendicular to shore line...

A) Wharf B) Jetty. C) Quay D) none of the above
39. Which one is used for allowing ships in harbour?

A) Warehouse B) Pier C) Breakwater D) Entrance channel.
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40. Port located in Orissa. ..

A) Kandla port B) Mumbai port C) Paradip port. D) Chennai port
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41. In a wet dock system,

A) minimum required depth of water for the vessels is maintained
B) entrance locks are provided with massive gates

C) the cost of construction is quite heavy

D) all of the above.

42. Port located in Goa...

A) Kandla port B) Mumbai port C) Marmagao port. D) Chennai port
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43. Slowest mode of transport. ..

A) Air B) Road C) Railway D) Water.
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44. Which one is used for protection from tidal variations outside harbour?

A) Warehouse B) Pier C) Breakwater. D) Entrance channel



45. Harbour component which permits berthing of ship on both sides...
A) Wharf B) Jetty. C) Quay D) none of the above

46. Jawaharlal Nehru port is located in which of the following state?
A) Gujarat B) Kerala C) Orissa D) Maharastra.

47. Ganga canal is used for transport of...

A) Agricultural products. B) Timber C) Steel D) Gold

48. Which of the following water resource structure contributes about 75% of trade?
A) River B) Lake C) Ocean. D) none of the above

49. Vishakhapatnam port is located in which of the following state?

A) Gujarat B) Andhra pradesh. C) West bengal D) Maharastra

50. Port located in West Bengal...

A) Kolkata port. B) Mumbai port C) Marmagao port D) Chennai port

224 slonnml Rad sicz ...

) sldsdl oiez oil) Hots ez ) WAL vier &) Aol oler

Question-6

1. Example of underground structure is...

A) Road B) Railway track C) Tunnel. D) Airport
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2. Which one of the following statements is not correct for heading and benching method of
tunnelling?

A) Drilling and mucking can be done simultaneously
B) Benching provides a platform for working on heading
C) Removal of muck from the heading is very easy.

D) none of the above

3. Full face method is adopted for tunnelling in,

A) Soft ground B) Hard ground. C) Running ground D) None of these
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4. Pick up the correct statement regarding drilling a tunnel from the following:
A) Holes are drilled by pneumatically operated rock drills
B) One drill is required for each 4 to 5 m? force area

C) The diameter of the bore hole at the deepest point should be 6 mm more than the diameter
of the cartridge

D) all of the above.

5. Which of the following method of tunnelling is more costly?
A) Soft ground B) Hard ground. C) Running ground D) None of these
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6. In case of railways this is preferred...

A) a detour round the hill B) open cut C) tunnel. D) all of the above
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7. Tunnels are constructed for,

A) Highways B) Railways C) Sewarage D) all of the above.
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8. Which one of the following methods of tunnelling does not require the use of time bearing?
A) Linear plate method B) Shield method C) Compressed air method D) all of the above.
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9. Tunnelling is preferred to open cut if depth of cut exceeds,

A) 12m B) 15m C) 18m. D) 21m
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10. Fore poling method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these



ML 2e(c0L 1z slrulela ughld 2rudigaiml sud 69,

21) His2 WG« ofl) Avtd UG- ) 2oL B &) vumizl 56 Al
11. A tunnel is found more advantageous as compared to the alternate routes because it:

A) remains free from snow B) reduces the maintenance cost C) reduces the cost by reducing
the route distance D) all of the above.
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12. Which one of the following methods is adopted for permanent drainage of tunnels?

A) provision of longitudinal drains B) continuous open drains C) concrete lining D) all of the
above.
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13. Heading and bench method is adopted for tunnelling in,

A) Soft ground B) Hard ground. C) Running ground D) None of these
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14. Which of the following methods of tunneling is used for long tunnels at great depths?
A) Army method B) Needle beam method C) Austrian method. D) English method

15. If depth of cut does not exceed 18m then what is preferred?

A) a detour round the hill B) open cut. C) tunnel D) all of the above
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16. Needle beam method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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17. The following operations are generally employed for tunnelling in hard rock:

A) Removing ground water B) Setting up and drilling C) Loading holes and firing the
explosive D) all of the above.
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18. In “full face method” of constructing tunnels, the first operation relates to:
A) Removal of bottom portion

B) Excavation of one drift in the centre

C) Removal of top portion

D) Excavation being done along the periphery.

19. Circular section of tunnels is not suitable for,

A) Carrying water B) Non-cohesive soils C) Tunnels driven by shield method D) Placement of
concrete lining.

20. Shield method is adopted for tunnelling in,
A) Soft ground. B) Hard ground C) Running ground D) None of these
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21. Removal of muck is very tough in following method of tunneling...

A) Full face method B) Heading and bench method. C) Drift method D) none of the above
22. Army method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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23. In drift method which of the following drift is most economical...

A) centre. B) bottom C) top D) all of the above

24. Army method is also known as...

A) Core method B) Block method C) Case method. D) none of the above
25. Linear plate method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
26. Which of the following should be considered while aligning a tunnel?

A) Atmospheric conditions B) Hydrological conditions. C) Climatic conditions D) None of
these

27. Size of tunnel depends on...

A) Volume of traffic B) Size of opening required C) Thickness of lining D) All the above.
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28. Concrete lining is provided concurrently with the driving operation in case of...
A) Soft ground B) Hard ground. C) Running ground D) None of these

29. The advantages of providing a pair of tunnels as compared to only one large highway
tunnel is:

A) Economy in cost of construction B) Avoidance of head on collisions C) Provision of
separate exit and entrance of two traffic streams D) All the above.
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30. Belgian method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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31. In case of drift method of tunnelling, the drift may be excavated at...
A) the centre B) the bottom C) the top D) all of the above.

32. English method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these

VHL 2(G0L HIZ 21U2 ughld 2rudigaiHl sudl 9,

2) A152 UG ofl) Avtd WG ) 2401 UG El) 2umiel 59 <l

33. Which one of the following tunneling methods is used for laying underground sewers?
A) Needle beam method B) Army method. C) German method D) Italian method

34. For carrying water and sewerage which section is suitable...

A) Parabolic B) Circular. C) Rectangular D) Polycentric

35. Most popular shape as traffic tunnels...

A) Parabolic B) Circular C) Horse shoe. D) Rectangular

36. Austrian method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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37. Which of the following method of tunnelling is less costly?

A) Soft ground. B) Hard ground C) Running ground D) None of these
38. Drift method is adopted for tunnelling in,

A) Soft ground B) Hard ground. C) Running ground D) None of these
39. Railway tunnels are generally,

A) Parabolic B) Circular C) Rectangular D) Polycentric.

40. American method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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41. If depth of cut exceeds 18m then what is preferred?

A) a detour round the hill B) open cut C) tunnel. D) all of the above
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42. Which one of the following methods is generally adopted for tunnelling in firm ground?
A) Full face method B) Heading and bench method C) Drift method D) all of the above.

43. For full face method, the excavation to be done is generally divided into:

A) 2 sections B) 3 sections. C) 4 sections D) 5 sections

44. Which one of the following is considered to be an advantage of the heading and benching
method of tunnel construction?

A) It is suitable for construction in unstable rocks

B) In this method, it is easy to install timber support

C) Tunneling can be continuous and the work can be expedited.
D) In case of excessive water, it is easy to take correct steps
45. Italian method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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46. Tunneling is required in case of,

A) Laying pavement B) Laying road C) On ground passage D) Underground passage.



47. The most suitable soil for compressed air tunnelling is,

A) Silt B) Sand C) Clay. D) Gravel

48. Compressed air method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these

49. The method of draining in the tunnels, is generally known as...

A) foredrainage B) dewatering C) permanent drainage D) all of the above.
50. German method is adopted for tunnelling in,

A) Soft ground. B) Hard ground C) Running ground D) None of these
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